Instructions for Inequality Tree

1.  Draw your x and y-axis (5 points)

2.  create and sketch inequalities that make it look like a “holiday tree” (60 points – 10 points for overall accuracy, 5 points for each inequality drawn.  Minimum of 10 lines)

3.  Shade in appropriately to create a tree appearance (15 points for accuracy of shading)

4.  put decorations on your tree and note the coordinates in which they are hung on the tree (20 points – 2 points for each accurate coordinate, minimum of 10 coordinates)
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